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42-Reza said that he.......theflower sto school the day after.
1) would take 2)will take  3)take  4)took
43-The number of students who want to go out of the
country to study is.... these days.
1) controlling 2)decreasing
3) involving 4)following
44-The cigarette started a fire on the car pet which then
..... quickly through the wooden building.

1)heard 2)reduced 3)smoked 4)spread
45-| don’t like Mrs.Smiths' character. Sheisa/an
..... person
1)responsible 2)respectable
3)interesting 4)interfering
46-" Do you know the.....of this book?
"Yes, heisvery famous.”
1)reader 2)author 3)manager  4)applicant
47-The number of peoplein........... hasfallen.
1)employable 2)employee
3)employer 4)employment
48-Ali is going to high school and we........... .
1) so are 2)are too
3) are so A)neither are

49-| think she walkstoo hard. Shelooks...... tired all
thetime.

1) enough 2) so

3) such 4) as
50-Do you agreethat it isimportant to teach every one
tothink in a.......... way?

1)science 2)scientific

3)scientist ) scientifically
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